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DATE: SIGN:

ANESTAR VICTORY BOYS HIGH SCHOOL
MATHEMATICS
FORM 2
MID-TERM EXAM
TERM 1, 2024

INSTRUCTIONS: (insert instructions) TIME: (Insert time here)

SECTION A (30 Marks|

(Answer all questions in this section in the spaces provided.)

(1)The cost of 3 books and 2 pens is sh. 60. If 2 books and 3 pens cost sh.65. find the cost of each book

and the pen (4marks)
’ (38+ aP= 60} iz 38 36 =20
2B+ 2p = 65)2 -s
( 4 5) 5 B =10
6R 4+ 4P =120 - |1&6 e
'(5g+QP:|QS> ‘ S P=15
O+ -Cp = -3S 38 - 60-62@&) B
(2 ) Simplify the expression (3mks)
3x+4+x+1 2x + 8
4 2 3
Lom= |2
alzer s +6(c+1) ~j(Rx+8).
| 2
Ax+ |2 46 +H -6 - 372
1T t6x-0x tinré-22
_ ¥z - 14
= 73
(3) Ifa: b=2:3 and b: c=5:9 ., find the ratio a:c (2mks
(Q;B)S
G:1)32
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1. The sum of interior angles of a regular polygon is 1980. Find:
a) The number of sides of the polygon (2mks)

[60n-36p - A%0
leon = @3 4p
= 13 Sidec

b) Size ol‘e‘(lcnor nngle (2mks)

6o
12 = 2%.69°

X=76 and y =49, (3 Mark)
a

> 2'.:3) he Value of 15
. xggt., 1% f—
& = 3 (4) Marks)
. X;Lx"'é: /Q__g }Qx‘f’g - & ¢b) LSQ[_J( 3QL-{=_
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Implify the expression:

The table below shows the measurements
orded in a survey.

of a maize field using a baseline XY as they were
or’s field book. (measure

ments are in metres)

Y

360 | 8010Q
ToR 80 280

ToS160 | 200
80 | 20010 p
X

(a) Use a suitable scale to draw the map of the maize field.

£ Y - Secale

(b) Use the map of the fieldfo calculate the area of the maize field in hectares. (5 mks
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(W) Hence use your graphs to solve the simultaneous equations

(V.x-%v-lxlﬁ

) (n}’;v=6) 7 (2 Marks)
Qx = =P ) —!;;/.
Qe ~lp=y.. .. .. m.\/{ [
2 . | N e of Intersect
ty =12 \/ Gse) Ton ﬁ Xotezien

Y -ra.ax .0 (AL)#)
I
£ @
Y=o Gz VE
(c) By use of substitution method, solve the simultaneous equations;

6x+dy=36 _ _ . D)

Cx+3y=13)é_ — (p;\
\ ( 3 Marks)

Siep T ',':1::!3-35_~
6('2'35) 4—1(3(5( z 26 \/M‘

FE- 184 tRy =326
-2
- kY -26-1&
~1RY = -2
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